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X % = 50l % 1z it
o1 WEXE R N 7 K 2,218 2, 344 4, 557
o2 WEX|ERT 7 A4 T A VESE 2,392 2, 497 4, 889
B3 HEEXHH B B 1 4 H O OJE| 1,638 1,616 3, 254
o4 FEEX|fE RE Mg i & o Z —| 3,026 3, 063 6, 089
# 5 WEXGE K O o K| 2,260 2, 433 4, 693
o6 BREXIE K B W N oK 2,370 2, 638 5, 008
o7 BREXIE K W & E fE| 2,672 2,571 5, 243
%8 REXRIE A o F K| 2,517 2, 508 5, 025
#o9 WRERIR MOH b % B 2,601 2,471 5,072
F1OREX|EARTHRAEMmALE % —| 1,869 1, 737 3, 606
1 THREXE M g 3,172 3,090 6, 262
1 2EREXSE M OB = /o K| 2,313 2,213 4, 526
Gl Al 29,043 | 29,181 | 58,224




